REOIERRS & L LICREBNEEZENZ RS/, TRMECNARHEAZERLRAZLET.

1 -1 0 0
-5 a —1 0
I 1 1 o = — 2: . =—1,4a.
(1) Q0 s 0 o _1|m@+D@-37=0&D, a=-13
9 0 0 a

(2) (10K a=2"Db=10DLEDHREEED,

—$

1
Dk E, — |2t (s, t IHEROEH).
8

8 w2 8

2 —1 -1 6 0 0
(1] @& #izxE, P=[1 2 of, B=[0 -3 o]
0 0

2 0 1

1 1 1
1) 10 &) §10g|3—2|—1—610g(332+4)—§tan_1(§)+0 (C RS ER)

log 3 et

2) (1050 =¥ EEL &, _
() v=e log 2 ver+1—e®

dm:f:(\/m+\/§) &y =1 (4-v2)

(20 B)  folzy) = fylz,y) = 0 &B{T (z,9) 1 (z,9) = (0,0),(1,0). TD3HB, (1,0) T
WME -1 ZE 3. (0,0) TIREERE & Sk,

e—1
1 R o

@ WA — (1 - 2271—_2)



